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B.Com. (CS) DEGREE EXAMINATION,
APRIL/MAY 2018.

Fourth Semester
BUSINESS STATISTICAL DECISION TECHNIQUES
[Common for B.Com., B.Com. (CA)]

Time : Three hours Maximum : 75 marks

SECTION A — (10 x 2 = 20 marks)
Answer ALL the questions.

All questions carry equal marks.

i A= R andB=[0 1]thenfindA—B.
Q-1 10

1
A=[(1) (;iIB=[(1) O} aafl®s A — B g snems.

2. (AB)" = BT A" (True/ False).

(AB)" = BT A" (sfl/ soum) .

10.

Find 7 for the series 5, 25, 125, .....

5, 25, 125, ot erenp Qamifled 1’ e HlwLs sTans.

State Newton’s backward interpolation formula.
Bl L afler GanCeams@ Qe sdemae euminium_aL
FomS.

Define equally likely events.

euepywim : FoeumiiiL] BlspEslser?

What is the probability of getting more than 2
when a die is tossed?

@m Srmen usmL 2 HLLUUGL Curg aar 2 HD&G
G aupeusHaTan Hlapsse] ererer?

Define L.P.P.

Qm LigssTar Qewed S L samsdamens updl e (pgs.
What is the objective of the simplex method?
HibLiGevsan wpenpuler CrrésLd eTemen?

What do you mean by balanced transportation
problem?

gwaUl L CUTEEEUTSS) SERTES GTETDITE) 6T6IT6H ?

Define assignment problem.

R8IES(H HETEH(E GTETDTE) GTEITET?
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12.

(a)

(b)

(a)

(b)

SECTION B — (5 x 5 = 25 marks)
Answer ALL questions.

All questions carry equal marks.

I A= [“11 24} find Adj(A). 13. (a)
-1 2 ) ; :
A= [ ’ 4} arafler Adj(A) g snewrs.
Or (b)
Solve the Cramer’s rule x+2y=3,
x -Fy= 2
&gmofler el dlsarlem Uig. Yletreu(mHd

swaruT(hsmens Sids x +2y =3, x +y = 2.
Find the sum of ‘n’ terms of the following
series T+ 77 + 777 + 7777 .....
Qereumpd ‘n’ e muiysdr Qarawr Ggm_fer
(g srews 7+ 77+ 777+ T777 ...

Or

From the following table, estimate the value
of Y when X =65.

X: 31 41 51 61 71
Y: 46 60 81 93 101

14. (a)
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Spsranid  ssuwsalldmhg X = 65
Qm&EWL Curg Y ar wdliamus srars.

X s R GG T

Y: 46 60 81 93 101

245

Explain addition theorem in probability.
gl L6 Capmsens elers@s.

Or

From a pack of 52 playing card, one card is
drawn at random. Find the probability that
it is

(1) an ace (ii) a spade (iii) an ace (or) a
spades.

52 & (éamens Qamar @ (&6 1ga0(Hbs)
sweumiiy wenuier @m O a@sSLLGHL
Gumgy (1) @@ gev (i) ¢ wGu (iii) @@ g6

g  @m wGu® HlLrs  QmEs
Blapsseilamens sreans.
What are the steps following in LPP?
NG Lig SSTen Qawedl L &amT &l et
BeEnL_(papmeni 69arsEs.

Or
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15.

(b)

(a)

A
B
C

Solve the following problem graphically

Max Z = 3x; + 4x,, Subject to the
constraints 4x, +2x, < 80, 2x, + 5x, < 180,
%20, %, =0,

auanguL(papuier  leremd
Qewdl L sansans Siés

R(BLgSSTEan

BeuQuilugrésg Z = 3x; + 4x,

sl_(uur@ser 4x, + 2x, < 80,

2x, + bx, <180, x, 20, x, 2 0.

Find IBFS using North West Corner rule
D E F G  Supply
113 -« 1714 2560
16 18 14 10 300
21 24 13 10 400

Demand 200 225 275 250

A
B
C

Geameumd  Curs@eursgl saTEslDE ULEES
GuhE e (pepau LLaTURSE STe| sTars
(IBFS)

D E F G seioy
‘19 1RiaET 14 250
16 18 14 10 300
21 24 13 10 400

Ggeeu 200 225 275 250

Or
5 S.No. 1524

16.

(b) Solve the Assignment problem
I II III

A(8 7 6

Bi5 7 8

c{6 8 7
Weneu(md REISE.(H samslenar Sray Clais

I II III

8 7 6
B g8
6 8 7

os]

SECTION C — (3 x 10 = 30 marks)
Answer any THREE questions.

All questions carry equal marks.

- S |
Find the inverse of A =|2 -2 0
i | R ¢
Sl ]
A=12 -2 0 |eam sewflulen Coiommy emflanws
2= 1
se(HiLdlg..
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17.

18.

19.

Estimate the value of Y at X =4 |using
Lagrange’s method

X:'0.2-3'3. 86

Y. 69,8 10 12
Spsrapid ssaudsalladipig X =4 %5 QEMEEGL
Gurg Y e wéliienu Qevsymengd wpepUiLily STems.

X: 02 35 6

¥: 5.7.8.10 12

A symmetrical die is thrown. Find the probability
for (a) getting 5 (b) getting 4 (c) getting 6.

@M Ls®L @muan 2 GLLUUGSng. o mlLeled
(=) 5 dewLés Hapsse] () 4 doLss Hapsse]
(@) 6 HevL_ss Hapsse YHweupenn ser(Hilly.

Solve the L.PP by simplex method
Maximize Z = 4x; +10x,

Subject to 2x, + x, <50, 2x; +5x, <100,
2x, +3x, <90 and x,,x, 2 0.

@@ ugssrear Qewed Sl sawsdlaar Sbliaréen
wpopuie Siss
BeLQuilugrésgs Z = 4x, + 10x,

sl @uur@eer  2x, +x, <50, 2x; +5x, <100,
2x, + 3x, <90 wHYID x;,%, 2 0.
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20.

Solve the assignment problem

a. b .d
3 16 10 14 11
IT |14 11 15 15
Hi {15 15 13, 12
IV\13 12 14 15
Yemaumid CUTEGeUTSS saTsSDE STey srems.
a.b. e d
I (16 10 14 11
II 114 11 15615
Il 15 16 13 12
IV\13 12 14 15
8 S.No. 1524



